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1.

PAPER -1

Semantic barrier in communication is

(A) Use of technical/difficult
language

(B) Use of technology
(C) Lack of attention

(D} Lack of co-ordination

. The key purpose of effective

communication is

(A) Create barriers

(B) Promote misunderstanding
(C) Effect change

(D) Confuse audience

. Identify the correct sequence of the

elements in the communication
system.

a. Speech

b. Speaker

c. Receiver

d. Effect

The correct choice is :
(A) b,a, c,d

(B) a, b, d, c

(C) b,a,d, c
(D) c,d, b, a

Paper - 1

1. Yedatoll Aed, ARGRSs way Aed
(A) AR5 /AU @intel Gullal
(B) ytalllsell Guallol
(C) tautstall wella

(D) UsCetell BeU

2. VYIRS Yl Aotoll Hul &

(A) WaRAY Gall sl
(B) MRUHYA Ylel&ol AU
(C) YA 12

(D) Yatslal yasaeHl ysal

3. Yelldol YRUElHL cleclloll A s
AL
a. elldel
b. cscll
c. Allar

d. uUuR

2102 udedll 8
(A) b,a, c,d
(B) a, b, d, c
(C) b,a,d, c
(D) c,d, b, a
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4. Which of the following is an example

of non-verbal communication ?
(A} Writing on the blackboard
(B) Speaking on microphone
(C) Sending a voice message

(D} Nodding head to indicate

disagreement

5. ‘Encoding’ in the communication
system means

(A} Converting thoughts or ideas into
a message

(B) Translating messages into ideas
or thoughts

(C) Providing opinions on the
sender

(D) Avoiding difficult words in the
message

6. Which one among the following is the

common language for Al ?
(A) Lisp

(B} Python

(C) PHP

(D) JAVA

Paper -1

4. ol Aetniell 53 vt s Yelllots]
GeleRW 8 ?

(A) slow wlRan uR dwg
(B) HB518lt UR clletg
(C) A (2 5) AAx WsAA

(D) Hd®e eallaal WY sctlag

5. s1f{adalet Rred (RuR yeuel)ul
‘Wosl(SoUall 248l 2 B

(A) Qs dEani 3uldRd seeu
(B) dtaef (AR iR 8¢
(€) HsEollr U ueyla YA wsd

(D) UTAHL Y5 AGE alnal

6. o{lAiell 565 Al HIZ UM
UL 8 ?

(A) Lisp ([@Qaw)
(B) Python (Ulef&lsl)
(¢) PHP ({l.a. )

(D) JAVA (i<ll)
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7. Regarding ICT based governance, 7. 35L& ottt e, ol Aotiniell

which of the following statements
is/are correct ?

i. Increasing transparency is
an advantage of ICT based
governance.

ii. e-governance is related to
automation of administrative
processes.

iii. Due to ICT based governance,
workforce gets reduced.

Choose the correct option :
(A) i, ii and iii

(B) i and ii only

(C) iand iii only

(D) ii and iii only

8. Which among the following are the
National Co-ordinators for SWAYAM ?

1. Indian Institute of Technology
Kanpur (IITK)

2. University Grants Commission
(UGC)

3. Consortium for Educational
Communication (CEC)

4. Indian Institute of Management

Bangalore (IIMB)

5. National Institute of Open
Schooling (NIOS)

Choose the correct answer from the

options given below :
(A) 1,2,3 and 4

(B) 2,3,4and 5

(C) 1,2,3and 5

(D) 2,3 and 4

Paper - ]

sl (Auet/ol wul & ?
i audl weesdsal A w3l
UMaloll SIAEL B,
i, g-2el B uusla ylsald
Y Ulceola cold B.
il 2. Al &l Welad 5128
sadlallell dveuni uaisl e 8.

2102 [Ascu ude 53
(A) i, ii we\ iii

(B) inal ii 12y

(C) il iii o

(D) ii W iii 1

. o{lAcuniel s2u 2l (SWAYAM) |2

AlaL sl & ?
1. etrcla NaABls rellot slolyR

(LITK)
Qaldaiuca wagela vl (UGC)
Jda@ls AR M2 ¥Y (CEC)

el {la Fatcet dzeu doclR (IIMB)

Al Yot [Qeucll [Qaw izen
(NIOS)

ol et @scquiel 200 G
wRie s2l:

(A) 1,2, 3 ua 4

B) 2,3,4ua 5

(C) 1,2,3uax 5

(D} 2, 3 ual 4

A R
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9.

10.

Given below are two statements :

Statement - I : SWAYAM is India’s
own MOOC platform, which offers
free online courses in almost all the
discipline to students/learners.
Statement - II : Coursera, Udemy,
Udacity, Iversity are other MOOC
platforms.

In light of the above statements,
choose the correct answer from the
options given below :

(A) Both statement I and statement Il
are true

(B) Both statement [ and statement II
are false

(C} Statement I is true but
statement II is false

(D) Statement I is false but
statement Il is true

Given below are two statements, one

is labeled as Assertion (A) and the

other is labeled as Reason (R}.

Assertion (A) : ‘Touch screen’ is

considered as both input and output

device.

Reason (R} : “Touch screen’ can send

data and receive data at the same

time.

In light of the above statements,

choose the correct answer from the

options given below :

(A} Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B} Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R} is false

(D} (A) is false but (R) is true

Paper -1

9.

10.

(1A o (Qulell 2Rl B :

@Quiet -1 : }wAY (SWAYAM) A
AlRcle] Welle] 45 (MOOC) \A2HM 8,
® €35 (el wuudHl [QeweflQ/
luiotiral HEcl BllotciieSot UeAAU5H
Y2l wsd 8.

[Qutet -11 : sl1ARL 3, ysilldl,
e erllél A w2 Y5 (MOOC)
Azl 9.

GURlscl [Qruollott deel oA 2

@scquisll A1 Grir e 53U:

(A) olol [ttt 1 wal [Atulst T A B

(B) olx [Qtutel T wa [Atutet 11 vll2L &

(C) {Atat T WY B uqg [Quet 11
g ®

(D) [Qtuat T WIg B Ul (Qtutst I
UY B

{lA QA [Quiell il B, Asa ([Auist(A)
wa oflogtal 51201 (R) 33 «ltuleltitet
s O,

(Quust (A): ‘2U lot'al Betye ol
wuBeye Guswl sél astal

51281 (R) : ‘2 ¥lot’ A s o YA
B Ascll 23 B U MRl v
53 A} B,

Gusct [Quuelionl Aeel oA wen

[Qscquiell 2002 Gz ude $3:

(A) 6iol (A} el (R) AL B A (R) A
(A) of 0o uULs0Q B

(B) tlal {A) 3ol (R) AR B wa (R) A
(A) of o=t ¥dls20 otell

(C) (A) 1Y B ug (R) Wg B

(D) (A) W & ud (R &
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11.

12.

13.

Which of the following components
fall under presage stage of presage
processor-product model of teaching-
learning process ?

1. Content analysis
Learning testing
Classroom interaction
Learning outcome plan

Learning supervision

ok webd

Learner’s motivation

The correct choice is :

(A) 1,4,6 B) 2, 3,5
(C) 1,5,6 (D) 1,4, 5

Discussion method of teaching

does NOT have the advantage of

developing

(A) Understanding and experiencing

(B) Reflective level of experiencing

(C) Active learning

(D) Organisation of content flow in a
structured sequence

A teacher through experience found
that learners were able to memorise
and recall content, if given in brief
summarised form. Of the given below
which one is NOT the implication ?

(A) Brief summarisation will motivate
learner for active participation

(B) Brief summarisation will
improve understanding and
conceptualisation

(C) Brief summarisation will focus
on memorisation irrespective of
understanding

(D) Brief summarisation is key for
cognitive learning

Paper - |

11.

12.

13.

ol At Hiell sii sl [QAawel ylslell
YA%- YAUR-YIss2 HsAall DAY
AGSSIHL wud B ?

1. Al [@Qeang

2. Quatel sél

3. aolvisell Bau-yldkal

4. Buatel URRUH Aoystl

5. Quctell Budw

6. Blueurell Q20U
Al weol B :
A) 1, 4, 6

(C) 1,5, 6

(B)

2,
(D) 1

bl

3,5
4,5

b

Qlatatell uAl uglAall @siu sauedl
slAEl atell

(A) ML A ajeiel

(B) uojeicle] Yl 2R

(C) dEa RQaw

(D) ¥R sl WYl yeuge]
doiset

Qatsal aercl gl Melal 1o %

llwott2 12l AlAlct ARiLL UMl

Al aHflal e Avial WA ALE

SRAHL UM &L, olA RSl 520

YRAE a8l ?

(A) A uRigl luaza aBau
eolletdl e Deuldd 58

(B) (@t ARiaL uuwel wa
[Qaucottil YulA 529

(C) AR AR UHwRLA LUlM]
Al cdlR 2AlE RAviell UR tllat

Yol 529

(D) A URIA stelleds Qa2
ALz &
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14,

15.

16.

The online teaching has advantage
with reference to

{A) use of multimedia system
(B) well structuring of teaching
(C) objective based teaching
(D) all of the above

Which of the following learner
characteristics disturb classroom
teaching ?

1. Self confidence
2. Absence of teacher clarification

3. Logical arguments for
clarification

4. Classroom noise by learners
5. Peer attention seeking argument

6. Access to large amount of
digital material on net

Choose the correct option :
(A) 1,2,5
B) 2,4,6
C) 3,4,6
(D) 2,4,5

In the following series of numbers,
one number is wrong in the series :

864, 420, 200, 96, 40, 16, 6
Which is the wrong number ?

(A) 40
(B) 96

(C) 200
(D) 420

Paper -1

14.

15.

16.

Alotctgel [@Qawtel s deelu
SIAEL B ?

(A) HEHBa (gmitanH) ugldall
Guallal

(B) wltalust((Ragys] w3 Hoy

(C) A2 R vLALUet

(D) GuRell ol %

{lAetHil 58 2umstizoll At sl
adluvisell Qe WA udlaud 8 ?
vleH(Quin

RQasell 2ure el ReaLesdl
Al M2 dllds ecllal
(QlenellA gLl colvisHi welly
UsULSle] 2ol Wudl eclla

A2 ur {3l i Bpee
AHflell AsAA

Ao [Aseu e s2A

oa kb -

A) 1,2, 5
(B) 2, 4, 6
(C) 3,4, 6
D) 2, 4,5

UL AUsSRAell sANHL As s WA B
864, 420, 200, 96, 40, 16, 6

sl s W2l B ?

(A} 40

(B) 96

(C) 200

(D) 420
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17. The difference between compound | 17. 1.5 d¥ H2 aldls 10% oll cu% €2
and simple interest on a certain sum
of money at the interest rate of 10% Ass WU W usq'@“ U ALEL U
per annum for 1.5 years is ¥ 183, c2Bell dslold T 183 B, ¥R A%
when the interest is compounded wiicls 3 US(S scUH] A B,
semi annually. What is the sum of .
money ? AlsH g &7
() X 19,200 (A) 19,200
(B) ¥ 24,000 (B) T 24,000
(C) % 35,000 (C) T 35,000
(D) ¥ 38,060 (D) ¥ 38,060
18. The following table gives the 18. o{lAq] slres aiflellRuitetl WUR wal
percentage distribution of [Qotetl L Wi A% A. B. C. D
population of five States A, B, C, D AE ol cadloll 1 . [a’ ’3
and E on the basis of poverty line ULE ol d eslalzlq ARGl
and also on the basis of gender : U B
Population of Yul (M) ua
Males (M) and el (F) aacll
% Population | Females (F) adlall St
State below Below | Above A% oAl % cadl afledl | atdlell
poverty line | Poverty | Poverty Yo & A 3L
Line Line o8 Gu?
M:F| M:F M:F | M:F
A 35 5:6 6:7 A 35 5:6 6:7
B 25 3:5 4:5 B 25 3:5 4:5
C 24 1:2 2:3 C 24 1:2 2:3
D 19 3:2 4:3 D 19 3:2 4:3
E 15 5:3 3:2 E 15 5:3 3:2
What will be the number of females A% DHL oEloll 2uit GuRe{l 1ectAlodl
above poverty line in the State D if it is dvau 32cll 83l %l A sl AL ¥ D
known that the population of State D
is 7 million ? A2eUA cxell 7 AQ2A B ?
(A) 2.87 million  (B) 2.43 million (4) 2.87 R@ast (B 2.43 (At
(C) 2.17 million (D) 1.98 million (C) 2.17 AAast (D) 1.98 MA@t
Paper - | 00
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19.

20.

The information about the students
of a college is given below :

Members of Cricket Club only : 5%

Members of Football Club
only : 15%

Members of both the Club : 75%
Non members : 40

What is the number of students who
are members of both the Clubs ?

(A) 450 (B) 500
(C) 550 (D) 600

The number of auto-parts
manufactured by 5 identical machines

during 5 days is given below :

A

19. 51A%etl ([Qenell (@3 oAl Hlddl

AU B
H (B2 selotell ue_l : 5%

HIAL §20llet SClololl el : 15%
ol selolell UGA : 75%
[@lat ue2d : 40

olal setolell dea Aal (Qaudl044
Aqual kecll B 7

(A) 450
(C) 550

(B) 500
(D) 600

20. 5 {tay e@2uet 5 aHet Halloll Gl

G2 ot - weuell v 12
VA B:

Machines
Days A|B|C|D|E
Monday 1391147211141 (184
Tuesday 141|180 | 164 | 189 151
Wednesday 115|141|159|156| 136
Thursday 89 |223]1120|147]113
Friday 187 93 |257| 160|124

12(let
Razl A{B|C|D|E
MR 139147 |211|141| 184
HolnaR 141|189]| 164|189 151
UCTE 115{141|159 156|136
3R 89 |2231120|147|113
9sal 187 93 | 257|160 | 124

Paper -1

The number of auto-parts
manufactured by Machine E on
Monday is what percent more than
the number of parts manufactured
by Machine C on Thursday ?

(A) 47.66%
(C) 59.66%

(B) 53.33%
(D) 62.33%

10

AHc? Hallet E gl Geaulltd a2l
wéyell vau o)zar Hellat C szt
Geullz . euollell dval 52l Becl 25l
ay & 7

(A) 47.66% (B) 53.33%

(C) 59.66% (D) 62.33%
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21.

22.

23.

24.

Which agency in India conducts
NEET Examination for admission
into medical colleges ?

(A) National Testing Agency
{B) National Board of Assessment
(C} Medical Council of India

(D) All India Institute of Medical
Science

ICSSR’ stands for

{A) International Council for Social
Science Research

(B) Indian Council of Social Science
Research

(C) Indian Council of Scientific
Sustainable Research

(D) International Conference on Solid
Science Research

Which Institution is scored rank
one (1), according to India Overall
Rankings — 2024 of NIRF, Govt. of
India ?

(A) IISC, Bangalore (B) IIT, Madras

(C) IIT, Delhi (D) JNU, Delhi

‘NIRF’ stands for

(A) National Industrial Ranking
Framework

(B) National Institutional Ranking
Framework

(C) National Individual Ranking
Framework

(D) National Innovative Research
Framework

Paper - |
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21.

22.

23.

24,

A

UMl 585 Al gL, Al sE slAHL
yasal Anacl W2l NEET udlau
AellHl wd 8 ?

(A) Aeocd 2RI Aoyl
(B) Aatct ol§ g RAUNe2

() ABsct s16lRA w1 g B3

(D) A BB sleye vls A3sa
UlRloA

ICSSR’ of Y32 ollH &
(A) Be2A2old SIGRA SR ARlar

Ul Rud
(B) sd2st s51GAc wg WA

U Rud
(€) B8R sIGAA s WalREs

Aalolcdl Rual
(D) Bo2A3oAA Hlo%o Vot UClS
Ay Rud

Vol WUE, AR WS (NIRF)GUR L. AR50l
RcL ASER AF01-2024 UoUR, 58
Hrelot YUH M vUHl vl & ?
(A) IISC, sloAR (B} IIT, HslY

(C) 1T, Rl (D} JNU, Rl
‘NIRF’ of Yz olld &

(A) Alolct Bosrdlaict Ashol Tk

(B) aelolct 8ot Wekol FHad
(C) Aetdd SodllAsyA Wkl FHclk

(D) Agteld BelldR et Rud yuad
0o




25.

26.

27.

Name of the centres established to
develop competencies among faculty
members in Higher Education for
better teaching, learning, research
and academic leadership for effective
implementation of NEP - 2020

(A) Malaviya Mission Teacher
Training Centres

(B) Pandit Madan Mohan Malaviya
Training Centres

(C) National Centre for Professional
Development of Teacher

(D) Human Development and
Research Centre

Which of the following is NOT a
characteristic of basic research ?

(A) Knowledge findings are
replicable

(B) Generalisation of knowledge
claims

(C) Concept and procedure of
knowledge creation are publicly
accessible

(D) Research knowledge is human
centric

Which one of the following is NOT a
tool for quantitative data analysis in
educational research ?

(A} MS Word
(B) MS Excel
(C) SPSS

(D) Math Lab

Paper -1
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25.

26.

27.

A

NEP-202001l U455 wHcllsel 1R
oldct? (Rl veral, Agltet wa
dails Adea HIz2 G Qawwl 3scdl
HeAHL 2Ll [Asacan M2 el
Sowloll otlH

(A) el Raet SR 8kl Aol

(B) Ut HEot Migat Hic(Qau 285611
Aoz

OIGEG G PR ERNETEIC
SccuRee Bls 2lauR

(D) el JadluNoe s RUA Aee?

(LAl 53 et Aaluste cal
atell ?

(A) 2AG sot Yotuadd &

(B} sllolall elellzlle] UHLolls20L

(C) sllol UNotell UsEUsll 2 Yl
wdxls yael &

(D) ¥2lUoto] sllol Hiotadlohd B

ol Asimiell 53f Aa@s walluatul
HLeHs 321 (Qanel Hize] Aluet
a8fl ?

(A) W v ad (MS Word)

(B) A v, AsAA

(C) A3l

(D) A Aul
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28.

29.

30.

A researcher intends to explore the
results of possible factors for the
organisation of ‘Girl student support
system development in the college
campus’. Which research method will

be most appropriate for the study ?

(A) Descriptive survey method
(B) Historical method
(C) Philosophical method

(D) Experimental method

What percentage of observation
are broadly covered in £ 2
standard deviation (20) of a normal
probability distribution ?

(A} 60%
(B) 68%
(C) 90%
(D) 95%

Which one of the following is called

non-probabilistic sampling ?
(A) Quota sampling

(B) Cluster sampling

(C) Systematic sampling

(D} Random sampling

Paper - 1

28.

29.

30.

As ANuUs A% SruuHl Qauelsl
A Rred Jaduiee’ ol Aolsel HI2
deQd uRolett uReuwle(l
scllell SAEL YA B, UeAY HER2 58
delltlet ugld Alell 200y 234 ?

(A) cagleiterts udfal ugld
(B) Alst@s ugld
(C) BANGse usld

(D) YBls ugld

UHULREL Aol [ArARQML 2
yHRQuAs (20) 1l ¥ecll 2stadl
vladl AaHl wudl & ?

(A) 60%
(B) 68%
(C) 90%

(D) 95%

(Actuil Sl olet- DA AR S
Aau(Aol sBcuHi A B ?
(A) sdlal ruldot

(B) scze? Axulcot
(€) Redls Aaulcol

(D) 2e5H Arulct
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31.

32.

33.

Given:U=—2,V=%,w=3,X=_4’

Y =9 and Zzé.Whatis the value

2
of \/(W \_]2)

2
L (Y-5)

+U-X ?
yA

(A) 8
(B) 9
(C) 10
(D) 11

If the compound interest on a certain

sum at 16%% for 3 years is ¥ 1,270,

what is the simple interest on the
same sum at the same rate and for

the same period ?
(A) ¥ 1,080
(B} ¥ 2,010
(C) ¥2,410

(D) ¥ 2,560

Complete the letter series :
ab a b aab aabb_

(A) aabba

(B) babba

(C) babab

(D) ababa

Paper -~ 1
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32.

33.

1

°aU=—2,v=§,w=3,x=—4,

1

Y =9 ua Z= aat, dl

X

2 2
\/(W—z) e
\Y Z

of HeL g & ?

(A) 8
(B) 9
(C) 10
(D) 11

ol Slef AWssU H U 3 o M

2

163% ol 3 UsYY(& causr 71,270 B,

dl % €2 el A o UHANOL HE
UHlol 5H UR UIE Y ¢4 B ?

(A) T 1,080
(B) 2,010
(C) T 2,410

(D) T 2,560

ueR Al yul s
ab_a_b_aab_aabb_

(A) aabba
(B) babba
(C) babab
(D) ababa
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34. The average of three numbers is given

35.

as 44, If the second number is twice
the first and is also thrice the third,

what is the largest number ?

(A) 72 (B) 68

(C) 64 (D) 58

10% of the inhabitants of a village
having died of cholera, during which
20% remaining inhabitants left
the village. The population is then
reduced to 5040, What is the original
inhabitants ?

(A) 6000
(C) 8000

(B) 7000
(D) 9000

36. Match the following and choose the
correct option from given below :
SDG Number Goal
I. 4 a. Clean water and
sanitation
II. 6 b. Climate action
Im. 7 c. Quality education
IV. 13 d. Affordable and clean
energy
1 II III v
(A) c a d b
B)yc d a b
C)a b c d
(D) b ¢ a d
Paper - |
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34. HluL dvdte(l A22AA 44 A3y vUUH

35.

36.

i 8. %l ofly dval yauuel A awll
dlat wal Ao dvaell ugt 2t 2l
ala, A Al Q2 v 58 & ?

(A) 72 (B) 68

(C) 64 (D) 58

dUMHSLell 10% Wen{l2A slA el 1y
el sdl. ¥ Rt 20% cuislell
¥cuAlpln oun 818l €ly &df. ugdl
acll udlal 5040 U AY B. YA
¥l 9 B 2
(A) 6000

(C) 8000

(B) 7000
(D) 9000

1A WA [Ascla Aaclla wd
Qs ude 53

AU, sHis 2y
1. 4 a. WY WUl ol
AR (Aa
II. 6 b. wallagfla sl
1. 7 c. Jatelitysd (Aargl
IV. 13 d. uRad Al weal W
Gl
I I m
A) c a d b
B)c d a b
() a b ¢ d
Mb ¢ a d
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37.

38.

Paper - 1

Given below are two statements :

Statement - I : The environmental
disasters are natural and hence
these are also termed as natural
hazardous processes.

Statement - II : Earthquake,
Tsunamis, Flood and Avalanche
are examples of natural hazards.

In light of the above statements,
choose the correct answer from the
options given below :

(A) Both statement I and
statement Il are true

(B) Both statement I and
statement II are false

(C) Statement I is true but
statement II is false

(D) Statement [ is false but
statement II is true

Which of the following are effect of
global warming ?

1. Change in the rainfall pattern.
2.
3.
4,

Rise in the sea level.
Loss of biodiversity.
Shrinking of forest cover.

Choose the correct answer from the
options given below :

(A) 1,2 and 3
(B) 1,3 and 4

(C) 1,2,3 and 4

(D) 1,2 and 4
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37.

38.

1A A Quell WA B -

Qutet - 1 : vaiaela aulial se:ddl
B ua Al da gecdl vl yBaul
313 uRl Aol 2 8.

Qenst - 11: oy, Yourll, ye ua
@ryuld As gecdl uiHet Gelswl
8.

GuRlsct [AQutallatl deel oA Wt
@QsciHiedl 202 G ude 83 :

(A) oial [@Qtet T wal [Atilet 1T URA B

(B) vial (Atltet T el (Atuet 1T V2L B

(C) @uot T W B U ([Atet 1I
Wi B

(D) @Quet T W B ud et 11
UY B

ol Aottmigll 585 s fTotoll

VUA & ?

1. aRuleedl dgAeHl HECld.

2. uYsoll ywdl Al anadl.

3. %a [QlAudtel sl

4. colfdcllze] RN UA.

wct [Ascuisf] 2oa G’ ude 53

(A) 1, 23 3
(B) 1, 3w 4
(C) 1,2, 3ux4
(D) 1,2 U 4
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39. Which of the following cyclone has
affected the West Coast of India in
last few years ?

1. Cyclone Biparjoy
2. Cyclone Fani

3. Cyclone Tauktae
4. Cyclone Amphan

Choose the correct answer from the

options given below :
(A) 1,2and 3

(B) 1 and 3

(C) 2and 4

(D) 1, 3 and 4

40. The soil pollutant among the following
are :

Pesticides
Radioactive wastes
Municipal wastes

Mining wastes

ok w0 b=

Electronic wastes

Choose the correct answer from the
options given below :

(A) 1,2,3and 5
B) 1,2,4and 5
(C) 1,3,4and 5
D) 1,2,3,4and 5

Paper - 1
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39.

40,

A

(Aol WSl s2ut cllcllASIA el Becils
a1l elRctell WBHl deat yewldd
s ?

1.l ez
2.l stoll

3. cllellBlg UGsa
4.

aAlellRS BHSel
UG @Qscddiell Aloa Griz wie s :

(A) 1,2 ua 3
(B) 1% 3
(C) 2 U 4

(D) 1, 3 3ol 4

oA 2 U8l o {lot Ugus & :
1. et asl

2. BRelp(l su

3. odR [RotMell AR

4. wIRLSIHAL 52U

5. 8AseAs 5U3

Wl @QsenHigdl 2oa G ude s
(A) 1,2,33a 5

(B) 1,2,4 a5

(C) 1,3,4 a5
(D) 1,2,3,4UaA 5

00




Directions for Q.No. 41 — 45 : Read the
following paragraph and give the answers

of questions given below it.

There are several other fields in which
it is desirable that a clear policy should
be laid down on an all-India basis. One
of the fundamental rights guaranteed
by the Constitution is the right of every
citizen of the Union to free and compulsory
education up to the age of 14. For the
proper functioning of democracy, the
Centre must see that every individual is
equipped with the necessary knowledge,
skill and aptitudes to discharge his duties
as a responsible and co-operative citizen.
What James Madison said about his

country, the United States, many years
ago, holds good today in our country also.
“A popular Government without popular
information or the means of acquiring
it is but a prologue to a farce of tragedy
or perhaps both. Knowledge will forever
govern ignorance, and the people who
mean to be their own governors must
arm themselves with the power which
knowledge gives.” We should, however like
to add that it is not only knowledge that is
required, but also the right kind of social
training and the inculcation of right ideals
without which knowledge by itself may be
sterile or worse. Training for democracy
postulates a balanced education in which

Paper - 1 18

@Za W, . 41 - 45 : WA $53 ai ],
Aol o1 20en Yol wate 3.

wed ol A B BHI e el A28
AU oA uscuni 2 A sl 8.
o120l gLl olAu] vuelHl wad
Hned AUAsAMI As Aol €35
ARIRsA 14 cdlell a2t Yl HEA vial
sAR2UA Qe Rnaciel @S2 B,
clsaudlotl 3 st 12, Josdl %lg HAIA
% €35 callsa w33l suotall uaer, slact wal
A5 FAUNELR WA UESE RS Ay
Wellell 5291 [Aetteatettoll atxcl wrla 8.
P ABUA Axolt 22, Yolls2s Wy (A4
Rl ool UBEL % 56 & A BU% AUURL Eal
M2 Ul Ygd &,

'dlsa 1B @Qatlell AlsQa uRsR
AU Aol Ylid scllotl HIL A
geleolioll Yot MUl SELU Cialoll
Yclldloll B, sllol laAH Bsilal UR WHat
529\, ol B A5l Wellell Acolr Woiclioll
wud 52 B AVNA Wellal wicll alell v
5l ASW R sliot WA B A, WU

GARG AU & 1A sllot o 33| otell, ug

202 ystell s dlcly wa alo
el Jnelaltell UL %32 B, Kol [Aell sitet
WA o o5y sl WA QY a¥ 8.
Alsdl Hizoll el A AgAd Blawell
QIR0 52 B, Bul wURs Rl ollles
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social virtues, intellectual development and
practical skill all receive due consideration
and the pattern of such an education must
be envisaged on an all-India basis.

41. Which fundamental right is
guaranteed by the Constitution
of India as mentioned in the
paragraph ?

(A) The right to vote

(B) The right to free and compulsory
education

(C) The right to freedom of speech

(D) The right to work and
employment

42, According to the paragraph, why

is it important for every individual

- to acquire knowledge, skills and
aptitudes ?

(A) To become successful in life

(B) To participate in the global
economy

(C) To discharge duties as a
responsible and co-operative
citizen

(D) To obtain government jobs

Paper - I
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A

(st mal calasly slact citiial 201 dld
2ot Al A B el vicll (Rt
Qeol UM crdlal 28 uRsceuedl s2¢
ASA.

41. $sAML ealcal Horol, GURcletl olulRQ
gl sl Hoed wEsRel vl
AUl HL wtell & 2

(A} Hdl el AU@s1R
(B) Hscd wal gFalA [Qlawldl u@s12
(C) cell 2ellcdatell Wi

(D} st wal AoduRell w@s2

42. 531 40!, £35 calsal MR sllet, Slalc
val oAUl Yird sl 2w 2
HecAyel © ?

(A) BcotHl SO Ul HR2
(B) dRs udcaui euot Qe M2

(C) waUHER Ul U&sIE oRs
A3 $2%91 olstacll

(D) =83 «lsdl Ancal W2
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43.

44,

45.

Paper -1

What did James Madison say about

popular government ?

(A) It cannot function without
wealth.

{B) It must be led by knowledgeable
people.

(C) Popular government without
popular information is like a
farce of tragedy.

(D) Democracy is the best form of
government.

What does ‘training for democracy’
postulate according to the
paragraph ?

(A} Training focused purely on
intellectual development

(B) A balanced education that
includes social virtues,
intellectual development and
practical skills

(C) A technical education system

(D) Education focused on leadership
and politics

Why does the author believe that

educational policies should be

established as an all-India basis ?

(A) To promote political unity in
India

(B} To ensure uniformity and
balanced education across the
country

(C) To provide higher education over
primary education

(D) To ensure more students join

government services
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45,

R ABUA Alsfa w512 (A 9

58 ?

(A) A AUR [Bote 514 53 2asd el

(B) coj olcecl Qs sl gt Ud
A5,

(€) Asfia WA Qotell s
AR gHedtloll Yool Rl B.

(D) clsauél A us12+] Are w3U B,

520 BlofAR ‘Asl ol el g

R ® ?

(A) el olllgs [@Asia uR tallet
3Rt 52 B

(B) s AdAct Qe Bl wues
o3l clles [@sld U cacslRs
slatcllell AHLAS 2 B

(€) 2slsc @ael yeudl

(D) [Bletgl Adect ol AYSRQL UR
Yo B

Auls Al HI2 1 B 3 daldls «ld
et eRdlal (18 ufa adl

KA ?
(A) @Ml Al Ascllal Ycllgel

wud
(B) #HOL BAHL AsUcA ol Ad@d

Rlawtell viddl sl

(€) wuMs Rlaat sl G [Qlawia
Yltlled 3lUg

(D) ay (Qeneflal Rstdl Aadul
st Aell vitcddl sel 1R

00




46.

47.

‘X’is East of Y’ which is in the North
of ‘Z’. If ‘P’ is to the East of ‘Z’, then
in which direction of X’ is ‘P’ ?

(A) South-West

(B) South-East

(C) South

(D) West

Match the following four terms of
Column - A with that of Column - B,
correctly as per Pramana’s
reasoning.
Column-A Column-B
1. Pramana a. The subject

who knows

2. Pramata b. The means of
validity
3. Prameya c. The resultant

valid knowledge
4. Prama d. The object of
knowledge
The correct match is
(A) 1-d,2-a,3-b,4-c
B)1-b,2-a,3-d,4~-c¢
(€C)1-¢,2-a,3-b,4-d
D)1-d,2-¢,3-b,4-a

Paper ~ 1
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46. X’ A Y ol Ydui 8 ® 2’ ol Gri2 8.

ol P’ A 26l ydui 8, Al X’ oll 5¢
Reuni P8 ?

(A) el@a-ultln

(B) e@u-yd

(C) e

(D) u@dn

47, UMIGUsll db Yool Bln-A ol o{lAsll

AR AGEl SlAH-B A A= Ad
Anal.

sldM-A slci-B
1. vy a. [Av2 % el &
2. YHlell b. Hicdlcllell HItAM
3. yRa c. uReuHl Het
sllat
4. Yt d. siletell ULl
2l HsE B -

(A) 1-d,2-a,3-b,4-c
(B) 1-b,2-a,3-d,4-c¢
(C) 1-¢,2-a,3-b,4-d
D) 1-d,2-¢,3-b,4-a
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48.

49,

50.

The ratio of the number of students | 48. A, B sl C 2UOUB{HI oA Sl
studying in schools A, B and C is (Qenell2Aell dvaueall 3)eltr woysi
6:8:7 respect1vc'ely. 'If the number 6-8:.70D % £25 slouMi weALH
of students studying in each of the ) ) o
schools is increased by 20%, 15% sell [Qauelllel veund 2!{0151).. 20%,
and 20% respectively, what will 15% ol 20% oll clul scHl uLd,
be the new ratio of the number of Al Al A, B wal cHi (Qeuelzel

i ? .
students in schools A, B and C ¢ avllell otdl OJQRTR Yocll 83l ?
(A) 20:19:18 (A) 20: 19 : 18
(B) 20:22: 24 (B) 20: 22 : 24
(C) 21:22:23 (C) 21:22:23
(D) 18:23:21 (D) 18 :23: 21
The average of 1%, 22, 3%, 4% 5% 67| 49. 12 22 32 42 52 62 ol AR2AA B
is
(A} 14.69 (A) 14.69
(B) 15.17 (B} 15.17
(C) 16.21 (C} 16.21
(D) 17.48 (D} 17.48
The bacterial count in a certain culture | 50. 35 %ol 5CUR (Slcllsl)Hi Yol
(colony) increased from 1000 to 4000 dvel 3 Rauul 1000 Al adla 4000
in 3 days. What was the average A B, dl li[a (2 aa u3A9 decu 25l
percentage increase per day ? At w8 ?
(A) 49.2% (A) 49.2%
(B) 54.3% (B) 54.3%
(C) 38.7% (C) 58.7%
(D) 62.9% (D) 62.9%
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